Monday — 2 step questions

Example:
| have L+ packs of oreos with 5 oreos in each pack.

| then eat 2.

How many oreos do | have left? I8 oreos left

She then loses 3 books.
2. A farmer shares 30 of his cows into 5 field
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| Miss Ellison-Smith has 6 piles of books. Each pile has 10 books in.
How many books does she have left? _ books
He then add | more cow to each field. How many cows are in each field? ____ cows

31 go to the shop and bu.gs 2 bunches of grapes and 3 pies.
How much money do | spend a together? £t
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L. A squirrel has 148 nuts but eats 8 of them.
He then puts IO nuts in each hole.

How many holes does he need? holes

5. Mr Rosetti has 9 footballs. He then finds 5 more. _
He shares all the footballs between 2 children. (@
\

How many footballs do they get each? footballes




